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QUESTION 1

What kind of authoring style uses the filter function? 

A. Relational 

B. Conformed 

C. Dimensional 

D. DMR 

Correct Answer: C 

 

QUESTION 2

A report authorhas created a crosstab report from the data source shown. The Retailer name level has been dragged to
the rows and default drilling up and down has been activated. 

What will be displayed in the report if the consumer drills up on one of the members of Retailer name? 

A. The parent member of the member drilled on. 

B. The ancestors of the member drilled on from the whole Retailers hierarchy. 

C. The members from the Region level. 

D. The members from the Retailer country level. 

Correct Answer: D 

 

 

QUESTION 3

The sales manager requires a crosstab report to display the top 3 sales people for the month. Considering that an OLAP
data source is used, what will the report author use when creating this report? 

A. A set expression 
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B. An axis title 

C. A percent of base calculation 

D. The hierarchize function 

Correct Answer: A 

 

QUESTION 4

When would a report author define a set? 

A. To create a slicer to focus on a specific number of years of data in a report. 

B. To change the crosstab node member properties for a level. 

C. To use as a summaryfunction to return the total of the specified members. 

D. To return members from different hierarchies of the same dimension. 

Correct Answer: A 

 

QUESTION 5

The report author uses the filter function to focus data in areport, but the results are unexpected. What did the report
author overlook when filtering the data? 

A. Relational detail 

B. Products hierarchy 

C. Report context 

D. Root levels 

Correct Answer: C 
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